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1. Define Management Accounting. Differentiate between Management Accounting and

Financial Accounting. 14

OR

Gujarat Company Limited manufactures product TR-and ‘the direct material cost is

budgeted as follows :
Material P : 15 units at ¥ 30 each for every unit of product TR.

The price of material P has gone up after the above budget was formed to T 45 per unit.

In the light of this information, the management has carried out a market study to

confirm that material Q can work as substitute and is available at ¥ 39 per unit.

At the end of the Budget period, the statement of material indicated that product TR

was produced to the extént of 2000 units by using material P as follows :

Quantity used : 33,000 units at the cost of ¥ 45.30 per unit

Analyse the material cost variances
(i) -as per the Conventional Approach.

(i) as per the Opportunity Cost Approach

(iii) Discuss the limitations of traditional approach to variance analysis. 14
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2. A factory manufactures three products, involving more than one labour operation for

each product has the following direct labour hour requirements for the products :

Direct Labour Hours Per Unit (in minutes)
Operation |
Product— A | Product-B | Product-C
I 36 84 60
IT - 24 | 48
111 18 12 -

The factory works 8 hours per day, 6 days in a week. Each budget quarter has 13

week and in terms of leave, holidays and other cause, 124 hours are lost in each quarter.

Operations I, II and III have the budgeted hourly rates for workers of ¥ 32, ¥ 40
and T 48 respectively. I

The budgeted sales of the products during the quarter are :
Product A 18,000 units
Product B 30,000 units

Product C 24,000 units

There were opening stock of 10,000 units of Product B and 8,000 units of Product
C and it 1s propesed to have closing stock at the end of the budget quarter as follows :

Product A 2,000 units

Product C 4,000 units
Prepare a man-power budget for the quarter, showing for each operation :
(i) + Direct Labour Hours
(i) Direct Labour Cost and

(111) Number of workers

| OR
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Write short-note on :

(1)
(i1)

Master Budget

Zero-base
ased budget 14

b T fent
3. Kn: a. Co. Limited Manufactures a standard product. Basic budget for annual
production was 40,000 units, byt actual production and sales were 36,000 units. Direct

wages standard rate per hour is 7 4 and variable overhead standard rate per' houris ¥ 5.

Other information is as under :

Particulars Actual Cost (?) | Per Unit Standard Cost (9]
Direct materials 3,70,000 10
Direct wages I 4,36,000 12
Variable Overheads 5,42,000 15
Fixed Overheads 3,26,000 .8
Actual Sales | 18,20,000 -

Information of variances :

(1)

(i1)

(iii)

(iv)

(V)

ND-126

Direct material rate variance and direct material usage variances are unfavourable.
Ratio 1s 2 : 3.

Direct labour rate variance is favourable but labour efficiency variance is

unfavourable. Ratio is 1 : 2.

Variable Overheads expenditure rate variance is favourable and variable overhead

efficiency variance is unfavourable. Ratio is 5 : 6.

Fixed overheads variance is unfavourable and fixed overheads quantity variance

is unfavourable. Ratio is 1.5 : 8.

Sales price variance 18 favourable T 20,000. Find out actual profit and budgeted

profit and prepare reconciliation statement, '“

OR
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Explain in detail single plan and partial plan. 14

4. Royal Company Limited operates a standard costing system in its factory. Based on its
past record, it appears that the material cost variance happens to be ¥ 6,000 a month, on
an a'verage. If the cause of the variance can be found and is correctible, the corfection

process will require two months. This correction is likely to have favourable effect for a

period of two months.

The investigation of variance will cost ¥ 1,000. Correction of the causé of variance will

cost < 2,000 and the probability for finding the cause is 0.40.

Would you recommend launching an investigation 2 Why ? What is the minimum

probability of finding a correctible cause that would justify an investigation ?

Also discuss the difficulties in analysis of variances. 14
OR

What are various models indicating investigation of variances ? Discuss each of them

in detail. 14

5. Select the correct answer from given choices : (Any Seven) 14
(1) Management accounting is concerned with
. (A) Pa;t decisions
~(B) Internal decision making
(C) External decision making

(D) None of these

ND-126 | 10



(2) Management Accounting is a structure for

(3)

(4)

(3)

(6)
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(A) Cost Accounting | (B) Financial Accounting

(C) Decision making (D) Budgeting

Who coined the concept of management accounting first ?

(A) James H. Bliss (B) R.N. Carter

(C) Philip Kotler (D) F.W. Taylor
The basic standards within the standard costing process is established for
(A) along period (B) the current period.

(C) the short period (D) an indefinite period

Operating Variance =

(A) Original Standards — Revised Standards
(B) Revised Standards —Actual results

(C) Original Standards — Actual results

(D) "None of these

The difference between hours paid and hours worked is known as
(A) Labour Rate Variance (B) Idle Time Variance

(C) Labour Efficiency Variance (D) None of the above

11

P.T.O.



(7) The responsibility for preparation, preséntatiun and its interpretation of budget of

the company is on
(A) Budget controller (B) Budget specialist

(C) Directors (D) None of these

(8) Appropriation budgets are |
(A) flexible budgets | (B) static (fixed) bl;dgEtS

(C) incremental budgets (D) zero based budgets

(9) At 60% capacity, factory overheads are ¥ 1,60,000 and at 80% capacity, factory
overheads are ¥ 2,00,000. Amount of fixed factory overheads included in the

above amount would be
(A) ¥2,00,000 % (B) %.40,000
(C) R 1,60,000 (D) None of these

(10) State Cost-Benefit Analysis Model.in investigation of variance.
(A) C=(1-P)L (B) C<(1-PL

(C) C<(P-1)L (D) C>(1-P)L

(11) Which of the following is Cost Variance Investigation Model ?

(A) Profit-Volume Model (B) Material Control Model
(C) Control Charts Model (D) None of the above
(ldyofl — )=

(A) Probability that the variance is uncontrollable.
(B) ' Probability that the process is in control.
(C) Probability that the variance is controllable.

(D) None of these
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